OTKpHITHIN OaHK
3agaHuu OI'D
10 MaTe€MaTHUKe

YacTb: YpaBHeHUs u HepaseHCTBa

BernonHuna:
BunbaaHoea Pamuns
yueHuua 10 A knacca
MBOY COLL Ne?21
Pecnybnuku TatapctaH



W

PeweHue:

3x+2x=63000000
5x=63000000
x=25000000
OTgeTt: 252000000p.




- 3anaHue NEZ\/




SRR

aaaHue Ne3

PeweHue:
6,5 MmuH=6,5-60c=390c¢
390:5¢=78 cTpaHuL.

OTtBeT: 78




" 3anaHuve Ne4




=

~3anaHue NQM

PeweHue:
1-0,9=0,1
0,1:10%=10%

OTBeT: Ha 10%




W

PeweHue:

70000 - 100%

X -39%
X=70000-39:100=27300
OTteeT: 27000




